"Chapter 1 Number skills

Name:
All Multiple Choice
1 What is 1232 x 3? 7  What is twelve squared equivalent to?
A 1232 A 12
B 2230 B 36
C 2404 C 64
D 3696 D 144
2 Whatis 18 +4 x (10 — 3)? 8  What are the first 4 multiples of 77
A 18 A 7,14,21,28
B 28 B 1,789
C 32 C 7,21,35,42
D 46 D 1,2,3,4
3 What is the highest common factor of 9  Whatis the approximate answer to
20 and 40? 4203 + 232
A 2 A 150
B 4 B 170
C 10 C 183
D 20 D 200
4  What are the factors of 12? 10 What is the approximate answer to
A 1,2,3,4,6,12 83243 x 1887
B 1,2,4,12,24,36 A 8000 000
C 1,2,4,8,12,24 B 15808000
D 1,2,3,4,5,6 C 16 000000
D 15649684
5 What is the lowest common multiple of
11 and 227 11 What d 4 N 2 1
A 11 at does TRET! equal?
B 20 6
cC 22 A -
D 44 161
B —_
22
6  What is the square root of 817 C 8
A 5 11
B 6 8
c 7 b =
D 9




12

13

14

15

16

17  The answer to

What does the division, 6= + -~
5710
equal?
A 42
50
B 82
7
C 6L
50
610
35

The conversion of 4% to a decimal

correct to 2 decimal places is:

A 0.66
B 433
C 466
D 467

The conversion of 0.8 to a fraction is:

A 2
100

B 8
1000

c 2
50

p 2
5

The answer to 5.73 — 0.08 is;

A 493
B 565
C 571
D 632

Evaluate 78.34 x 2.1, The answer is:

A 8044

B 156.44
C 164514
D 1645.14

—32; 0of300+(32+8)+9-2is:
A 24 '
B 50
C 57
D 359
18  Which of these is a true number
sentence?
A 50-4x(6+2)-7=11
B ($0-4Hx6+2-7=11
C 50-@dx6)+2-7=11
D 50-4x6+(2-7)=11
19 Ken went to the fruit market and
bought:
3kg of apples at $1.80 per kg
800g of peas at $2.90 per kg
1.5kg of oranges at $0.89 per kg
The total cost of the items are:
A $3.75
B $4.87
C $5.89
D $9.06
20

Kate eats % of her apple now and % of

the apple after dinner. What fraction is

left over?

A 1
>

B 2
7

c 3
7

p 4
7



21

22

23

24

Ken wants to share his 24 toys between
his 3 friends. Each friend will receive:

A 3toys
B 8toys
C 10toys
D 12toys

Jon and Kate eat % of a chocolate cake.

They decide to share the remainder with
their mum and dad. What fraction will

each parent get?
A L
8
p 10
16
¢ 2
16
p 2
10

Peter sold 0.82 of his cap collection.
What fraction is this?

A B
100
B8
100
)
10
b 82
100

In the previous question, Peter had 50
caps to begin with. How many caps
does he still have?

A
B

O OO ] Oh

C
D

25

26

27

28

29

I am an improper fraction.

My numerator is a multiple of 11.
My denominator is a prime number.
The sum of the numerator and the
denominator is 29.

What fraction am 1?

A 1
18
B 2
-
c 8
11
b 2
11

The number 1 is:

A aprime number

B acomposite number
C amultiple of 6

D afactorof 13

The number 14 is:

A aprime number

B acomposite number
C  amultiple of 28

D afactorof2

What is 16% — 8%

A 192
B 64
C 16
D 8

Which of the following is a proper
fraction?

N
3
g 2
5
¢ B
5




Find % of %of 6. 31 Sam ate % of his pizza for lunch and %
A 9 of the remainder for afternoon tea. What
B 4 fraction of the original pizza was left
l?
C 21 over?
4 A 1L
D 17— 3
9 g L
5
c 2
5
0




Number skills

Non-calculator questions

1 Find an approximate answer fo the following.
272 + 3072 + 36 + 82371

Name:

2 The weather forecast predicted that over the

next 11 months it would rain 17 mm per month.

Approximately how much rain might fall?

Jane eats % of her pizza for lunch and g for

dinner. What amount is left over?

A 2
8
g 3
8
c 2
8
D >
8

4 Is the following statement true or false?
12 3 2 1

+ =
100 5§ 15 15

5 What might be the missing digits?

L1, « _ 0

_—t — = =
i2 12 12




6  Use 3 of the following fractions to make a true
number sentence.
2 3 7 23

574720° 20

Bvaluate 3% + i

9

What mixed numeral, when multiplied by 2% )

gives a result of 3—9—?
25

If —2— is subtracted from a number to give a

result of % , what is the number?

10
Two identical fractions add to give % What

might the 2 fractions be?




Number skills

Non-calculator questions

1 What are the missing numbers?
40
+ 25
03

Name;:

2 What numbers could be added to 427 to make it
divisible by 10?
Give 2 possible solutions.

3 Anumber is divided by 6 and the remainder is
3. What might the number be?
Give 2 possible solutions.

4 What could the missing numbers be?
2019
- 050
135

5 List all the factors of 36.

6 Use order of operations to calculate the
following,
240+4+15-33

7  Use order of operations to calculate the
following.

(412-352) + (41 ~32 +3)




8 (a) Write all the factors of 12.
(b) Write all the factors of 15.
(c)  Write all the common factors of 12 and
15.
(d) Write the highest common factor of 12
and 15.
9  From the list of numbers
1,2,3,4,5,6,7,8,9, 10, 11, 12, 13:
(a) write all the multiples of 2
(b) write all the multiples of 3
(c) write the common multiples of 2 and 3
(d) write the lowest common multiple of
2 and 3.
10  Evaluate the following,

\/% +0.7%- %—xﬁ




K ng.wﬁﬁ. I Number skills
All Multiple Ghoice

iy

1 gm:m,,_umwxmo_
1232
m 2230
¢ 2464

V& 3696

2 §anm+pro 3)?
i8
w 28.
32

- C
/O 4

uw What is the anwmﬁ commaon factor of
20 and 407

A 2
B 4
C 10

AD 20

4 \%mﬁ are the factors of 127
1,23, ,mLm

1,2,4,12,24

2,4, u.n_.m.,

3,4 _m §

gow
ol
0

5 Whatis the lowest common multiple of
11 and 227
-2 A 11
B 20
O 2

D 44

6 What is the square root om.mﬁ...

<
Bawy
o~

11

’ Zm..ﬁn.mﬁh

7 gmﬁ is twelve mo.,am,ﬂ& nmﬁﬁ%a to?

A 12

8  What are the maﬁ #Eﬂﬁinm of 72
JE 7,14, 21,
B 1,789 = . -
c 7 : ,
1,

%

D

‘9 ﬂ\wﬂm_&a m%ﬂoﬁﬂmﬁ mumga:o
42035 237
> 150
170
,\@ 183

D 200

10, What is the m@?oﬁgﬁ answer to
83243 x 1887
A 8000060
15 808 000
16 000 000
15 649 684 Exvod,

dﬁ.ﬁa — = 5

.\ oomHH+HHBEn
53

‘ @.E

B

8l B o 3o

1 What does the &ﬁ,ﬁoﬁ mi - .qu

mn—dwﬁ
A 44—

.6
) 8=

15 . The conversion of am. toa mang

 cotzect o 2 decimal Emoom Is:

14  The conversion of 0.8 to a fraction is:

8

0
8
1000
4
C 5

/6

A

5

15 The answer to 5.73 — 0.08 is:
A 493
/B) 565
c 571
D 632

16  Evaluate 78.54 x 2.1. The answer is:

A 8044 -
B 15644
v @ 164.514
1645.14

17 dua answer 8
7 0o
3 ommoo (B32+8)+9- ma

b,ma.
B 50
JO 57

D 59 °

Hm Which om Eamnamqaa Eﬁcﬁ
sentence?

VB 0-4x (6327211

B (02Hxs+2-7=11

C 50~k +2-7=11

D 50-4x6+(@-7)=11

19  Kenwent to the fruit Eﬁwﬁ and .
bought:
3kg of apples at mH 80 per kg
800g of peas at $2.90 pex ww
1.5kg of oranges at $0.89 per kg

_ The total cost of the iteris ate:
A 8375
B $4.87

g0 -
@.%.8 .

20 Ko cats .,wm of her apple now and w of

the apple after dinmer. What Wmonon is.
left over? ‘

A
B

c

TN R N TN ] -qi:—x




21

Ken wants to share his 24 toys between
his 3 friends. Each friend will 3820
A Stoys

i _\.@ 8 toys

22

Sor

C 10toys
D 12toys

..q on and Kate eat M of a chocolate cake.

They décide o share the remainder with
their mum and dad. éﬁmﬂ fraction will
each parent get?

I

8

10

B =
16

g

D =
10

23 Peter sold 0.82 of his cap collection.

)

24

7
/® 5

‘What fraction is this?
mm .
B o
R
100
82
10
82
100

Int the previous question, Peter had 50
caps 1o begin with. How many Sum
moam be stil] have?

6
.w

© 25  lam an Improper fraction,

My mumerator is a saultiple of 11.

- My denominator is 2 prime mimber.

The sum of the numerator and the
deriominator is 29.
. ﬁﬁmﬁ fraction am Ho
A pal
, . Hm
Ve 2
7
18
11
m N
- 11

" 26 The number 1 is*

A aprime oumber

B acomposite aumber
. C  amultipleof§
,\@ mmwnhoHome

27  The oumber 14 is:
A aprime number
n\@ a composite number’
C  amultiple of 28
D afactorof2

28 Whatis 16— 829
& 192
. B 64
C 16 .
D 8

29 ‘Whichof the H.omoﬁﬁm isa wnowo_..
mﬁoﬁono

b,

V@

[

31

~

Sam ate wm. of his pizza for lunch and w
of the remainder for mmmEoou tea. What .
Traction of the on%b& mﬁwm was left -
- over?
. . ) . P
1 % b o
A = =gz - -
3 AR NG|
1 1
G § .
e 2 |- 57%
]
Do
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Number skills Name:” _ e : 6 Use 5 of the following factions to make a true \
. A T ) number seatence. % 2
Non-calculator questions 23 7 23 _vm //Mc_ S _ w

1 Find an approximate answer to the following. o= 2 4

I o L 580w T 2
Yhay, N B %,xe

mqw.m.moqwxvma +82571 _ "3¢6 4
) B2 370 _\ .
. , : 7 Y
REIS] . . Ts& 85 | . _ : Evaluzte 32 - 2.
2 The weather forecast predicted that over the . 7 '
next 11 months nso&anﬁbﬁgwaﬂ month. b ‘ H Wlnw -
Approximately How much rain might fal? . —_—— - . . A .[Mm.. At = 3 == m,lw.\ \
_ | T L WOsTTE 5
-/ Ly
87 mm S _ .ﬂ!mm!fr\w,r
3 Jane eats W of her pizza for Eu.n.ﬁ and w for
) dinmer. What amount is Jeft over? )
: 2
..P ol ' ) .
( 3 ﬂ&ﬂ mixed bﬁBQﬁ vihen Eaﬁwr&w — . .
® 3 , ﬂ o 2% O
e 4 givesa H@ﬂE ¢ . .Wmnw <
: gfﬁé}u_dﬁi
D = _q - “ -
s B B EXS -l
llrlmwlnlll - /w B .
4 Tsthe Tollowing statemoent true or false? FalSe X
RE-SELEYE T
/quuo 15 ' rue
) : 9 3. ‘ .
5 ' What might be the missing digits? . K Sl subtracted from a number to give a
@ at ! ,\ . result om .Hu what is the number?
®'E " n | , ,
10 o . 1 ] b o
, Two identical fractions add to m..%o =.What —— ...MN\ = |W_ .
might the 2 fractions be? )\ \ . Ea g




Number skills
Non-calculator guestions

1 What are the missing numbers? .

Uz . &
+.M.|W ) ’ \\

Y

@ Wiitoall the factors of 120 1) 2/ &, GG " =,

Y

(by  Write all the factors of 15. }, &5
@ ‘Write all the ¢drmmon EQSM& oS %.Mm; _m,\

wm? L3

‘o

{d) 'Write'the highest common factor of 12 e . B

and 15, @\

3

‘What mumbers could be added to 427 to make it
divisible by 10?

Give 2 possible solutions. 2, | .NUX\ ,

0 1,2,3,4,5,6,7,8,9,10, 11, 12, 13;

Ll £
LI

Y t\m\:_m.

From the list of numbers

(2)  writo all the multiples of 2 /% ¢ B 119~ 12 :
(b) write all the multiples of 3 3, &, ;12 o

(©) dﬁwa the common multiples of 2 dnd 3 g | .un\

(d) te the lowest common multiple of

.weam.ﬁ\ e

A momiber is divided by § and the rémander 5
3. What might the dumber be? )

Give 2 possible solutions. .mﬂ ;1 @ X\

10

de,&amﬁ Em following. . , /
336 oo Loy, agX o

4 What could the missing numbers be?
289 /- g .1 4
- Bmm‘\ Y
135 .

5 Hpmﬂ all the factors of 36.

w\ N\w\_{_\ Q\mN\;M\rwm\,\ |

N % Use order of operations to calcalate the -

1io m.\ - . _ '
mch.mawﬁiuumu_ Wuw Y ﬁ.u\.

¥z’

7 Use ordér of operations to calculate the
following. 12
(412-35%)+ (41-33 +3) ~1T 5

_ wz_,_w\ 25
5>
O GO

o Ne

g49-1 = 549, T



